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()  30+6+10-2x5

(i)  48+16x2+17-9

(iii)  (18+10)-(3 x 6)

(iv) (10 x 8) + (20+5)

(V)  {20-(24- 10)} +7

(Vi)  {20+(15+5)}-5

(Vii) 12 x 3 +3x 4-2+6

(viii) 121+11+29-2x10

(iX) 45-[38-{60+3-(6-9+3)+3]
(X) 37-6x4+32+8

(xi) 27-[18-{16-(5-4- 1)
(xii) 100 x 10 -100+2000+100
(xiii) 5751 x {45-(90+2)}

(xiv) 289+153+17-8 x 19

(Xv) 7823-128+16 of 4 -3973

(xvi)  [{64-(12+13)}+3]+15

(XVil) 4+4+4+4 = 4

(xviii) 20- {18+(7-2+1)}
(XiX)  2[19-{7+(12+4)}]

(xx)  [{(30-9=6 )+3} x 6+6]
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Ans.()5 (i) 14 (iii))10 (iv)20 (v)13 (vi)35 (vii)52 (viii)20 (ix)26 (x)17

(xi) 23 (xii) 920 (xiii) 0 (xiv)146 (xv) 3848 (xvi)28 (xvii) 13 (xviii) 17

(xix) 18 (xx) 60

www.mathmitra.in Created by Dr. Bina Singh



http://www.mathmitra.in/

